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3ODFH 3HUIRUPDQFH %LE )LUVW�1DPH /DVW�1DPH &DWHJRU\ *HQGHU $JH�*URXS 7HDP
� �������� �� 5REHUW 1DJRUVNL 0�� 0 9�� 9$&
� �������� � &DUH\ *UD\ 0�� 0 9�� 9$&
� �������� �� 6WXDUW /HLJK 0�� 0 9�� 23(1
� �������� �� $QG\ 0LWFKHOVRQ 0�� 0 9�� 9$&
� �������� � &DUROLQH +HOGHU :�� ) 9�� 9$&
� �������� �� /LDP 2
+DUH 0�� 0 9�� 9$&
� �������� � 'DYLG *UHHQILHOG 0�� 0 9�� 9$&
� �������� �� 5KLDQQRQ 1HHGKDP :�� ) 9�� 9$&
� �������� � 0LFKDHO -RKQVRQ 0�� 0 9�� 9$&
�� �������� �� 'RXJ 0LOVRP 0�� 0 9�� 9$&
�� �������� � $ODQ 'DYLGVRQ 0�� 0 9�� 9$&
�� ���������� � -RH $VSLQDOO 0�� 0 9�� 9$&
�� ���������� �� %LOO 2
&RQQRU 0�� 0 9�� 9$&
�� ���������� �� )UDQFLV 7KRPDVRQ 0�� 0 9�� 9$&
�� ���������� � (GZLQ %DUWOHWW 0�� 0 9�� 9$&

'16 � &DPLOOD $OOZRRG :�� ) 9�� 9$&
'16 � 3HWHU +DPLOWRQ 0�� 0 9�� 9$&
'16 �� 6DUDK .QR[ :�� ) 9�� 69+&
'16 �� .DUHQ 6DPXHO :�� ) 9�� 6&9$&
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3ODFH 3HUIRUPDQFH %LE )LUVW�1DPH /DVW�1DPH &DWHJRU\ *HQGHU $JH�*URXS 7HDP
� �������� �� $QG\ %RZHQ 0�� 0 9�� 9$&
� �������� �� )HUJDO 'RQQHOO\ 0�� 0 9�� 9$&
� �������� �� 3DXO 0FFURQH 0�� 0 9�� 9$&
� �������� �� 'DUUHQ )UDQNV 0�� 0 9�� 9$&
� �������� �� 'DYLG 5RELQVRQ 0�� 0 9�� 23(1
� �������� �� 6XVDQ 0F'RQDOG :�� ) 9�� 9$&
� �������� �� 3HWH &URFNIRUG 0�� 0 9�� 9$&
� �������� �� -DUDQ )LQQ 0�� 0 9�� 23(1
� �������� �� 0DOFROP 'DYLHV 0�� 0 9�� 9$&
�� �������� �� .DQD $NLPRWR :�� ) 9�� 23(1
�� �������� �� 1HLO 5DH 0�� 0 9�� 23(1
�� �������� �� 5LFKDUG 0DQJKDP 0�� 0 9�� (0$&
�� �������� �� .D\ 7ULQGHU :�� ) 9�� 9$&
�� �������� �� +RZDUG $QGHUVHQ 0�� 0 9�� 00$&
�� �������� �� +HOHQ 3RRO :�� ) 9�� 9$&
�� �������� �� 3HWHU *LOHV 0�� 0 9�� 9$&
�� �������� �� 3HWHU +DOO 0�� 0 9�� 9$&
�� �������� �� 3DWULFN 7KLHOHPDQV 0�� 0 9�� 6&9$&
�� �������� �� -RDQQH %XUNHWW :�� ) 9�� 9$&

'16 �� 7RQ\ 0DFGRZDOO 0�� 0 9�� 9$&
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3ODFH 3HUIRUPDQFH %LE )LUVW�1DPH /DVW�1DPH &DWHJRU\ *HQGHU $JH�*URXS 7HDP
� �������� �� %HQ *RGGDUG 0�� 0 9�� 23(1
� �������� �� $DURQ %XUJHVV 0�� 0 9�� 9$&
� �������� �� -XVWLQ 5HLG 0�� 0 9�� 1,0$$
� �������� �� 'RQDO 0RUDQ 0�� 0 9�� 23(1
� �������� �� 7HUU\ %RRWK 0�� 0 9�� 9$&
� �������� �� 0DUWLQ 0XUUD\ 0�� 0 9�� 1(0$$
� �������� �� 6WHZDUW 2YHUWRQ 0�� 0 9�� (0$&
� �������� �� 'DQ 0DGDPV 0�� 0 9�� 9$&
� �������� �� -RQDWKDQ 5DWFOLIIH 0�� 0 9�� 6&9$&
�� �������� �� $OH[ 'DYLGVRQ 0�� 0 9�� 23(1
�� �������� �� 6DP +ROODQG 0�� 0 9�� 9$&
�� �������� �� 7RQ\ 7XRK\ 0�� 0 9�� 9$&
�� �������� �� -RQ $QGHUVRQ 0�� 0 9�� (0$&
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'16 �� %HQ +XUOH\ 0�� 0 9�� 9$&
'16 �� 0DWWKHZ 0XQUR 0�� 0 9�� 9$&
'16 �� 5DM 3DUDQDQGL 0�� 0 9�� 9$&
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